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ROMH 200 | (EROH 200
20k 2,000 |3ROLE 1,000
15 O 200 |ZFOHH 500
F0Ofs 500| [EOR BORR 5,000
ZBOE 1,000 |2O= 500
RO1B 2,000 | [KROFi 700
5RO 1,000 | [EOM#K 5,000
1 OIK 1,000 [ |2I:ROFH 1,600
RO 1,000 | [EFOF 700
RO 500| [BOzZ:= 1,000
wOM® 500| [#EO= 200
BRO% 3,000 | |BROWE 1,000
R2O0F RO%E 300
ES=Ei= wOB 1,000
HPREHS 2,000 | [EOM #EOm 1,000
rEEREHE 23,500 | |FO®E 1,000
BEREHE 29,600 | [EO7E 500
aERMAREHE 1,000| [£OF 1,000
ZEREHE 9400 | [£O=m 100
BAREHSE 2100 | [£O=m 300
MEREHSE 9,200 | |2IOHA 1,000
SHNEEREHNS 300 | |#OHW 1,000
HREEHSE 2,000 | [EOM® 500
NZREHE 3,100 | [FfOF 1,000
BNEREHE 1,200 | |ROH 10,000
TEERZAHE 6,000| [ZORE 1,000
afEHE 500 |ZRO%E 2,000
MAEHZ 3,000| |=OH 2,000
hEEIEE 500
MOR 2,000 | |EiEfERIZE=R
MO 2,000 |[AEHEBEHZ 5,000
FOx 10,000
RO 2,000 | |#HhrfE
=ZOH 2000 |EO& 1,000
RERERS R
SHNERENS 500| [mO% 100
NEBRIEE 2,400




RELEE IR P GERE
MEZEABREEZER=EST 30,000 [ |#HOM 2,000
=BT RNHBIRAT 10,000
BOE 1,000 | | XHIREAREA
MO 1,000| |SHUAEMEEHZ 300
BOZ 1,000| |EEBFERIZ 10,000
YEEEE M 1,150 |)BO=E 100,000
20OF 10,000
RIRERELHESR BEMOR 1,000
BORE 1,000| |&EOZ 5,000
BROE 1,000




